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Name ______________________


Signature ___________________________

Econ 641 W10


Exercise 2
Note:  URL for website corrected on p. 2,  1/19/10.
1/12, 1/14, due 1/19 (because of holiday 1/18)
1.   (25 HW points) Using Table G.1 in Woodridge, and giving answers to 4 decimal places, if X ~ N((, (2), 


a) what is Prob (X < ( + 2.35()?  ______________  


b) Prob (X > ( + 2.35()?  _____________


c) Prob (X < ( - 2.35()?  _____________


d) Prob (|X- (| > 2.35()?  _____________


e) Prob (|X- (| < 2.35()?  _____________

2. (35 points; a) and e) 10 each)   In Exercise 1, #4, the following three values of X were drawn from a common probability distribution with mean (X and variance (X2:    2, 6, 1.  Using these same values, and making the further assumption that they are drawn from a normal distribution, 

a)  construct a t-statistic for the hypothesis that (X = 5.316.  Give answer to 3 decimal places:

(You may utilize your results from Exercise 1, assuming those were correct.)  

b)  How many degrees of freedom does this t-statistic have? __________

c)  What is the critical value for the t distribution for a 2-tailed test of size .05, with this many degrees of freedom?  (Use G.2 in Wooldridge). ________________

d)  Can you reject the hypothesis of part a) at the 5% level, using a 2-tailed test? ___________

e)  Construct a 95% confidence interval for (X.  Give answer to 3 decimal places:

Part II (1/15 lecture):  

Data set SCHOOLS.TXT on the class website at www.econ.ohio-state.edu/jhm/econ641 has observations on the following variables for 49 Central Ohio school districts, taken from a study reported in the Columbus Dispatch, 2/6/2000:  


OBS:  Observation Number


S:       Number of Proficiency Standards met on state proficiency tests.  


E:       Expenditures per pupil on staff, materials, and building maintenance


Y:       Median family income in school district.

The format of the file is plain ASCII (unformatted alphanumeric text data).  Create a folder on your computer or flash drive with a distinctive name such as “ECON641”, and save this file to it as “SCHOOLS.TXT”.  (The extension .TXT  will remind the system that it is plain ASCII.  Windows doesn’t care whether folder and file names are upper or lower case or mixed.).  

3.  (5 HW points) What are the first and last values of Expenditures per Pupil in schools.txt?  


First _____________     Last _____________

Now load this data into an EViews Workfile as follows:  Enter EVIEWS and under the FILE menu, select NEW > WORKFILE.  Under TYPE, select UNSTRUCTURED/UNDATED (since this is not a time series), under DATA RANGE > OBS enter 49, and under NAME > WF, enter SCHOOLS so that this Workfile will be named SCHOOLS.WF1.  This gives you a new Workfile window called SCHOOLS, containing two entries “C” where the regression coefficients will go, and “RESID” where the residuals will go.  In order to place it where you want it, on the EVIEWS window toolbar, select FILE > SAVE AS, browse to your ECON641 folder, and save it.  A WF1 extension identifying it as an EViews workfile will automatically be added to the file name.   SCHOOLS.WF1 is a distinct file from SCHOOLS.TXT, even though Windows no longer automatically shows you file extensions when it lists files.
In the SCHOOLS workfile window, under PROC, select INPUT > Read Text-Lotus-Excel.  Browse to find your SCHOOLS.TXT file, and open it.  Notice that the first few observations appear in the window, and check that the first value of Expenditures is in place.  Provide convenient names for the four series in the NAMES box such as OBS  S  E  Y .  (EViews treats upper and lower case variable names the same, so I’ll type them in upper case.)  The defaults for the other settings work OK on this file.  

The Workfile window now contains E, OBS, S and Y, in addition to C and RESID.  Click on “E” to see a spreadsheet of the Expenditures data E.  

4.  (5 HW points)  What are the first and last values of E on this spread sheet?  


First ______________     Last ______________

Do these match what you got in #1?  (yes/no) __________________. 
If not, start over.  If yes, close the E spreadsheet window, but not the other windows.  

5.  (10 HW points)  Create a scatter plot of S versus E, as follows:  
In the EViews (6) window bar, select QUICK > GRAPH .  In the LIST OF SERIES window, type in E S, and click OK, then under TYPE, select SCATTER half way down the list.  The scatter plot should show a distinctly positive correlation between the two variables.   (E is on the horizontal axis since you listed it first.  Any subsequent variables will go on the vertical axis or axes.)  

 
In the GRAPH window menu bar, click ADD TEXT, and then choose JUSTIFICATION: CENTER and POSITION: TOP.  Type your name in the TEXT FOR LABEL box to prove that you did all this yourself, and click OK.  Print your graph with your name printed by EViews at the top, and attach to this homework.  
You may close the graph window and delete the graph at the prompt, once you’ve printed it successfully.  (In EViews 5, the graph TYPE menu comes before you give the LIST OF SERIES, but the idea is the same.)   

6.  (35 HW points)  Regress S on a Constant and E as follows:  

In the EViews Window bar, select QUICK > ESTIMATE EQUATION.  Under SPECIFICATION, enter S C E.  Leave the METHOD as LS and the SAMPLE as 1 49.  Click OK.  This gives you an Equation Window.  
a)  What is the coefficient on E?  Report to adequate precision, considering the standard error.  (Because E is in dollars, the coefficient is rather small.  If you had converted E to thousands of dollars, it would be 1000 times bigger, but would still have the same t-statistic.)  



                         ______________

b)  What is its standard error? ______________

c)  What is the t-statistic for the hypothesis that this coefficient is 0?   ___________

d)  What is its p-value?  __________________

e)  Can you reject the hypothesis that the coefficient is 0 at the 5% level?  ________

f)  At the 1% level?   ____________________   

g)  At the 0.1% level?  ___________________ 

7.  (25 HW points)  
a)  (10 points) Construct a t-statistic to test the hypothesis that the coefficient on E is 0.004:  

b)  (5 points) How many DOF does this t-statistic have?  _________________
c)  (5 points) What is the 5% 2-tailed critical value, using the tables in the text?  _____________

d)  (5 points) Can you reject this hypothesis at the 5% level?   

8.  (20 HW points)  
a)  (15 points)  Construct a 95% confidence interval for the coefficient on E:  

b)  (5 points)  Using your answer in a), can you reject the hypothesis that coefficient is 0.001 at the 5% level?    ________________

9.  (20 HW points)  

a)  (5 HW points)  What is the R2 for this regression?  _______________. 

(10 HW points)  If you had regressed E on a constant and S, what would have been the coefficient on S?  Show your calculation:    

(5 HW points)  Now use EViews to regress E on a constant and S, as follows:  In the Equation window you generated, modify the regression by clicking on ESTIMATE.  In the window now type E C S (instead of S C E as before).  Click OK.  Does EViews get the right answer?  

(yes/no)   _______________
10.  In order to get credit for the problems 6 – 9 above, print out your regression output, for either regression, with your name at the top, as follows:  In the EQUATION Window menu bar, click FREEZE in order to create a new TABLE entity that you can edit.  In the new TABLE Window, click TITLE, and in the box type in your name.  Click PRINT in the TABLE Window menu bar, and attach the printout along with your scatterplot.  
You may now close the TABLE window and delete the table at the prompt.  You may close the EQUATION window and delete the equation at the prompt, since it is easy enough to regenerate it if desired.  In the EViews window, use FILE > SAVE to save the changes to your SCHOOLS.WF1 workfile, as you will need to use this data again, and don’t want to reload it.  
Return to Siwapong Dheera-Aumpon’s  mailbox outside Arps 410 by 1:30 1/19  or in class 1/19 (due Tuesday because of Monday holiday).  
